1

1
| I——

1
| I—

76:_011

(2) Internal
Impact Style
Dampers
(Factory
Installed)

PN
6.5” 0.D. x .375” Thick

SteadvMax

6.5" Diameter Plate e m e s
2" Dia. Wire Hole

4.596" Dia.

Bolt Circle

(4) 5/8"-11NC

Tapped Holes

‘—.375"
o 1

Pole Designed per AASHTO 2013 Specifications For A 120 mph Maximum
Wind Speed When Supporting A Maximum Design Loading Of (3) .7 sq.
ft. EPA And 20 Ib. Cameras, Along With An Additional Loading Of (1) 14"
x 18" x 20 Ib. Power Supply Cabinet, Mounted On Strong’s ’Birdhouse”
Adapter (8" x 12" & 15 Ibs.).

The Combined Maximum Design Loading for This Pole Assembly per
AASHTO 2013 Specifications For A 150 mph Wind Speed Is 3.2 sq. ft.
EPA And 80 Ibs. Weight.

Notes:
1. Approximate Pole Assembly Weight: 65 Ibs.
2. Maximum Combined Moment At Base: 6560 ft. Ibs.
3. Maximum Combined Shear At Base: 454 Ibs.

Pole Designed per 2015 Florida Building Code When Supporting A
Maximum Design Loading For The Maximum Wind Speed As Shown.
Maximum Combined Weight Is 25 Ibs. Per sq. ft. of EPA.

Wind Speed (mph) 130 | 140 [ 150 | 160 | 170 180 | 190

Maximum EPA (sq. ft) | 74 |58 | 50| 43 [3.7 | 32| 2.8

Note: All Calculations Assume That The Pole Base Is Mounted No Higher
Than 2°-0" Above Grade And A Combined Wind And Dead Load Deflection
No Higher Than To 3% Of Pole Height.

6" Dia. Aluminum Tube
.156” Wall Alloy 6063-T6
Standard Powder Coat Finish

9" To 10" Dia.
(4) 3/4"—10NC Galv. St. Anchor Bolts, goit Cirelo
AASHTO M314-90 Grade 55, 10 Of
Threaded End Galv. Per ASTM A153.
(4) 3/4"—10NC Galv. Stl. Hex. Nuts /a R

(4) 3/4” Galv. Stl. Lockwashers \ !
(4) 3/4” Galv. Stl. Flatwashers e

_ 2 3/4”
Ground Lug Opposite Handhole

/Re/'nforced Handhole (3" x 5") With \73'hread"' -
/ Cover And Stainless Steel Hex. Hd. —t
f O Screws 1 6"
1-6" Base Flange Alloy 356—T6 )
/] / With Bolt Covers And Stainless 3
- V2N Steel Hex. Hd. Screws :
" Label Per 38119—001
9 3/4” Sq: | Part No. 37650, And Manufacture Date
- REVISIONS o TE 16’ SteadyMax Series Pole
I A Part # SP-SM16
STRONGPOLES? [+ e
By DWG. NO.
CHK'D




